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Q@ 2. A rectangular paddock needs to be constructed using a straight river as one side and 200 metres of
fencing material for the other 3 sides. Find the dimensions of the paddock which will maximise the
area enclosed.
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3. A manufacturer wishes to maximise the volume of a cylindrical can that can be made out of 6007
square centimetres of sheet metal. Find the dimensions of the can of greatest volume.
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4. A certain rectangular poster requires 96¢m? for the printed message and must have a margin around
the area of print. The top and bottom margins are required to be 3cm and the side margins are required
to be 2cm. Find the overall dimensions of the poster if the amount of paper used is a minimum.
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